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3. Data Analysis
3. Cluster Analysis using R
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o RERCE), csv 77AMILET—RELTERAH

— A RF2ARY) IDTRITHILE IZIRTF
FE | HE  EHE | &RE =

AEB| 90 | 100 | 70 | 90 | 30

RER| 80 | 60 | 70 | 70 | 20

data-seiseki.csv | = EB | 100 40 30 70 80

PAER | 60 | 30 | 40 | 80 | 80

f£F| 30 | 60 | 80 | 90 | 90

EF| 50 | 60 | 40 | 30 | 60

#F| 90 | 100 | 90 | 80 | 70

o csVIT7AIZEEFRAIAFA, EEseiseki ITRA

> seiseki <- read.csv(“Y:/R/data-seiseki.csv”, header=T, row.names=1)
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o BH%K dist() TEEBEZETEL, seiseki.dIZHXA

> seiseki.d <- dist(seiseki, “manhattan”)

XY\ TEEE ("manhattan”) ZFALNTIREEZETEL TULVS
DB {FH LV =LV EF L ”"manhattan”ZF LA R IZEE

“euclidean” =1—%1)wKEaE#
“minkowski”, p=3 = p=3M3I>aJ7 AT —[bE#
“maximum” =4 /)AL (23 ©iFAEN 0aE)

« BEOVTRIFI—n%EL, faRZseiseki.hclZ{X A

> seiseki.hc <- hclust(seiseki.d, “ward.D2")

XA —Ki%& ("ward.D2") ZFHWNTOSAA—0EERL TS
MDA EZFFELN=NESIE, "ward.D2”FLLTFIZEE
“single”=fx %2 EE Bt iE, “complete” =mx BBl
“average” =R L 1%, “centroid”=E Il %, “median”=F R{E %
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 $HERATUFOT S L (BRE) CTHEQD

> plot(seiseki.hc, hang=-1)

» BRZTUFOJSLEEE) TRE®Q

> plot(seiseki.hc)

@ Cluster Dendrogram @ Cluster Dendrogram
(o] L=
(o] Lo
(8] (o8]
L=
[Fy]
™
o
S S
™
5 5 3 |
2 8 2 - "
o 1K ] [
= = M M M o= = o= M- =
I + = = L ] El < =
seiseki d seiseki.d
hclust (*, "ward D") hclust (*, "ward.D")

wy ]




6. RCOSRA—4 4T

. FURASS L BHE) %4125 E

> plot(seiseki.hc, hang=-1)
> rect.hclust(seiseki.hc, k=4, border=“red”)
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> install.packages("fmsb")
> library(fmsb)
> radarchart(seiseki, axistype=2, 77 a5 E flsd £ &)
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(75  JEREEE DTSR A—IL D AE, DEIMZLLTOREIC

a—7) JFEEﬁﬁ(euclldean)
a3—7%') vk iER#E (euclidean)
a2—7%') vk iE#E (euclidean)
—') vk iR (euclidean)
2—9')y kR (euclidean)
—') vk e (euclidean)

BBt
<Ny R 2 tEEE (manhattan)
<Ny A 2 tEEE (manhattan)
<Ny A 2 tEEE (manhattan)
Y\ B 2 EEREE (manhattan)
Y1\ B3 2 EEREE (manhattan)
YNy EEEE (manhattan)

DS AREZ—EDFHE
Bx K2 EE A S (single)
= T< EEEf & (complete)
AT 15;% (average)
& 1lM % (centroid)
th R B ;% (median)
) A—k % (ward.D2)

DSR3—IEDHE | &

= }2 PR B % (single)

= = FE B ;% (complete)
T 15% (average)
&Il (centroid)

th = {& ;% (median)

) #4—ki%& (ward.D2)

TEL, HREKzERSE, LEEL

DENR

KI=-{SAFTETDHDT
EHIFEELTES

B Z (X, EEBE(S
seiseki.man <- dist(...)
seiseki.euc <- dist(...)
mEEL, 1—9) kiR
HET N AU IRREE
FFEL-ERZ, hhy
ZWAFIDRZZ T
AL, V5R52—{kH (iR
Bf_AETIN TR A
seiseki.e_si <-hclust(...)
seiseki.e _cp <-hclust(...)
seiseki.e _av <-hclust(...)
seiseki.e_ce <-hclust(...)
seiseki.e_m <-hclust(...)
seiseki.m_si <-hclust(...)
seiseki.m_cp <-hclust(...)
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Tips! B EZDEILT, EHORXZFLLERT S

> par(mfrow=c(2,3)) < X1EEE2 X 3125 B
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Tips! EIESE, EHEEE FIR—DIEEDETH)

> seiseki.euc <- dist(seiseki, "euclidean") <« 31—4H)yRFiEEEstE
> seiseki.e_si <- hclust(seiseki.euc, "single") «—— HSRIA—SER
> seiseki.e_cp <- hclust(seiseki.euc, "complete") EMNSIEIZ, 6DDAETE
> seiseki.e_av <- hclust(seiseki.euc, "average") *L%;hé-f%jl_/%g%?&{%ﬁ
A i

> seiseki.e_ce <- hclust(seiseki.euc, "centroid")
> seiseki.e_m <- hclust(seiseki.euc,"median")
> seiseki.e_wa <- hclust(seiseki.euc,"ward.D2")

6 DDIEREMBEILI=LIDT

> par(mfrow=c(2,3))

ot(seisekic <1 hange) B EZ2x3D 65

> plot(seiseki.e si,hang=- <

> rect.hclust(seiseki.e si,k=4,border="red") 690)%%%%“@:*%@

> plot(seiseki.e cp,hang=-1) TNZN2{TTLIDDE@EZ
> rect.hclust(seiseki.e cp,k=4,border="red") E->THY,

> plot(seiseki.e_av,hang=-1) plot(...) D&l iz X F& B

> rect.hclust(seiseki.e_av,k=4,border="red") rect.hclust(...) DX EN#RHE
> plot(seiseki.e ce,hang=-1) LTS

> rect.hclust(seiseki.e ce,k=4,border="red")

> plot(seiseki.e m,hang=-1)

> rect.hclust(seiseki.e m,k=4,border="red")

> plot(seiseki.e wa,hang=-1)

> rect.hclust(seiseki.e wa,k=4,border="red")
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EIZEEDHTIATLIZLY!

D FEHTEFTLELDGSE)ZEL1DD
274 ILIZEL. Fl{EIZIL TeraPad ]
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Q@ I7AMIDEEEETDI7AILIIC
L, 74L& RITHRTF. CDEE,
T7A1IVRIEFEBTILI7FRIYENE
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@ R(RStudio) CLLTF&ZELT

> source(“Y:/R/euc_clust.R”)

%) —Xd—FKTeuc_clust.RINIZfELELVAY
BITNIEETIRIZETINS. BHEVLAH
HIGEIE, TDGFTIS—MAETIEES

[;5 % Imanhattan (BB TRIBRD 771 )L
[man_clust.R1ZD<KYETLELD

seiseki.euc <- dist(seiseki, "euclidean")

seiseki.e si <- hclust(seiseki.euc, "single")
seiseki.e_cp <- hclust(seiseki.euc, "complete")
seiseki.e_av <- hclust(seiseki.euc, "average")
seiseki.e_ce <- hclust(seiseki.euc, "centroid")
seiseki.e_m <- hclust(seiseki.euc,"median")
seiseki.e_wa <- hclust(seiseki.euc,"ward.D2")

par(mfrow=c(2,3))

plot(seiseki.e si,hang=-1)
rect.hclust(seiseki.e si,k=4,border="red")
plot(seiseki.e cp,hang=-1)
rect.hclust(seiseki.e cp,k=4,border="red")
plot(seiseki.e av,hang=-1)
rect.hclust(seiseki.e av,k=4,border="red")
plot(seiseki.e ce,hang=-1)
rect.hclust(seiseki.e ce,k=4,border="red")
plot(seiseki.e _m,hang=-1)
rect.hclust(seiseki.e m,k=4,border="red")
plot(seiseki.e wa,hang=-1)
rect.hclust(seiseki.e wa,k=4,border="red")



